28-00-00
25-07-08 | 2-04-08
3 |
I | I | I | I | I | I I | [ —
218
0 0 N 0 N 0 =
5 S
. ™
Daniel Barnett Garage = 2
7/16" OSB w/ Rex Wrap (2-1/2" DROP) =
SITE TRIM =
SPECIAL NAILING PANEL #1 o
&
o o
o o
o L] o
o =] o
< <
AN AN
I
S
Panel = &5
Label Length Height Thickness  Stud Size Load Bearing  Sheathing o
1 28-00-00 9-02-08 5-08 2x6 SPF Stud LB 7/16" 4x9 OSB ]
2 23-06-08 9-02-08 5-08 2x6 SPF Stud LB 7/16" 4x9 OSB
3 27-06-08 9-02-08 5-08 2x6 SPF Stud LB 7/16" 4x9 OSB N
4 23-01-00 9-02-08 5-08 2x6 SPF Stud LB 7/16" 4x9 OSB _
5 6-08-00 3-06-00 3-08 2x4 SPF Stud LB 7/16" 4x8 OSB
GAR9-0x8-0 GAR9-0x8-0 ]
N W] Y A W N i
1
8-02-10 11-07-00 8-02-06
! !
28-00-00

Customer responsible for verifying all dimensions, rough openings (locations and sizes), wall heights

and any other critical details. Wall panel fabrication will not commence until LBS/MBS receives a signed copy of the

wall panel layout and initialed copy of the wall panel drawings.

IMPORTANT!

Customer:

Customer: Garage Package
Job Name: DANIEL BARNETT

Job No.: P18B22W

il

England
Homes

‘our Building Needs
Roof & Floor Trusses )

UILDING SUPPLY, INC.




ittt DO Job: 1811BKS2155R LaVallevy Landscape Elevation Report
- “’"“ i 1 : Page: 1 of 5
e ) Date: 01/14/2019 10:59:53

Level: 1st Floor Bundle: <None> Panel: 1
Stud Spacing ~ BF Weight Production N
1-04-00 620 1369.00 Ib
Sheathing Hold/Extend
Standard Material T B L R
7/16" 4x9 OSB -1-08 208 - 000
Cutting List
Lbl Member Description Qty Length Width
A Bottom Plate 2x6 SPF No.2 5-04-00  0-00
B Bottom Plate 2x6 SPF No.2 16-00-00 0-00
C Bottom Plate 2x6 SPF No.2 6-08-00 0-00
SPECIAL NAILING DETAIL FOR NARROW WALL BRACING D VTP 2x6 SPF No.2 15:06-08 0-00
Square: 20-05-11 E VTP 2x6 SPF No.2 11-06-08  0-00
. F  King Stud 2x6 SPF Stud 8-11-08  0-00
5-08 G Jack Stud 2x6 SPF No.2 7-10-12  0-00
- D H Jack Stud 2x6 SPF No.2 ) 6-08-12  0-00
Q | | Header 2x12 SPF No.2 ) 13-01-10 0-00
S J  Header 2x12 SPF No.2 ) 14-05-14 0-00
< i i .\,. IV i i i i i i I O 1 i i K Filler 1/2" 2x12 CDX FIR (2) 13-01-10 0-00
N - = L Filler 1/2" 2x12 CDX FIR (2) 14-05-14 0-00
TCP TCP M Header Sil 2x6 SPF No.2 (1) 13-01-10 0-00
8 8 N Header Sil 2x6 SPF Stud 4) 9-01-00  0-00
~ ~ O  Header Sill 2x6 SPF No.2 (1) 14-05-14 0-00
P Header Cripple  2x6 SPF Stud (18) 4-04 0-00
Q Stud 2x6 SPF Stud () 81108  0-00
. 1 R Stud 2x6 SPF Stud (5) 7-10-12  0-00
Q 1 H
i 1 S Sheathing 7/16" 4x9 OSB (7) 9-00-00  4-00-00
I T  Sheathing 7/16" 4x9 OSB (1) 3-08 8-00-00
U Sheathing 7/16" 4x9 OSB (1) 3-08 8-00-00
V  Sheathing 7/16" 4x9 OSB (1) 3-08 8-09-06
W  Sheathing 7/16" 4x9 OSB (1) 3-08 3-02-10
9-01-00 9-01-00
1-08 13-04-10 - 27-10-08
} 3-08-02 K 9-01-00 j 20600 9-01-00 K 3-07-14 }  OPENINGS
' 28-00-00 | O/AFRAMING
GAR9-0x8-0 GAR9-0x8-0
Flush Flush
/- WII | [ [ | [ [ ALl [ [ | [ [ LMW /
[
1% 4
- T @ N
o o ' '
@ ® I P
R i =



sul.nmssumv INC. :azgummesuww INC I

England
HHomes

™ atloro wr};.» Framing Con

cted Wt Pante o Trim, Rt & Foo Truses)

Al Your Building Needs

Job: 1811BKS2155R

LaValley Landscape Elevation Report
Page: 2 of 5

Date: 01/14/2019 10:59:53

Level: 1st Floor Bundle: <None> Panel: 2
Stud Spacing BE Weight
1-04-00 309 816.00 Ib
Sheathing Hold/Extend
Standard Material T B R
7/16" 4x9 OSB - 2-08 5-08
Cutting List
Lbl Member Description Qty Length Width
A Bottom Plate 2x6 SPF No.2 (1) 9-04-00 0-00
B Bottom Plate 2x6 SPF No.2 (1) 14-02-08 0-00
C Top Plate 2x6 SPF No.2 (1) 14-08-00 0-00
Square: 25-02-13 D Top Plate 2x6 SPF No.2 (1) 8-10-08  0-00
5 (E% E VTP 2x6 SPF No.2 (1) 7-06-08  0-00
) F VTP 2x6 SPF No.2 (1) 16-00-00 0-00
o : o E c— : D G Stud 2x6 SPF Stud (18) 8-10-00  0-00
< T Q H Flat Stud 2x4 SPF Stud (1) 8-10-00  0-00
S |~ | Flat Stud 2x6 SPF Stud (1) 8-10-00  0-00
o X J  Critical Stud 2x6 SPF Stud (3) 8-10-00  0-00
o K  Sheathing 7/16" 4x9 OSB (6) 9-00-00  4-00-00
L  Sheathing 7/16" 4x9 OSB (1) 5-00 8-00-00
M  Sheathing 7/16" 4x9 OSB (1) 5-00 8-00-00
N  Sheathing 7/16" 4x9 OSB (1) 5-00 8-00-00
O Block 2x6 SPF No.2 (1) 10-04 0-00
P Block 2x6 SPF No.2 (14) 1-02-08  0-00
Q Block 2x6 SPF No.2 (2) 1-01-00 0-00
a | R Block 2x6 SPF No.2 (1) 8-04 0-00
T H
3-09-12
¥ 23-06-08 4 O/A FRAMING
FlUSh =I Y| iy T T Iy Y| Y| T T Y| T T T iy T T Iy

=

¥0-€0-}

cl-60-€

J Extend: 5-08



England
HHomes

Al Your Building Needs

sul.nmssumv INC. :azgummesuww INC I

™ Ilu/wr}n Framing Con
cted Wt Pante o Trim, Rt & Foo Truses)

Job: 1811BKS2155R LaVallev Landscape Elevation Renort

Page: 3 of 5
Date: 01/14/2019 10:59:53

Level: 1st Floor Bundle: <None> Panel: 3
Stud Spacing BE Weight Production N
1-04-00 391 987.00 Ib
Sheathing Hold/Extend
Standard Material T B L R
7/16" 4x9 OSB 108 208 - 508
Cutting List
Lbl Member Description Qty Length Width
A Bottom Plate 2x6 SPF No.2 (1) 14-08-00 0-00
B Bottom Plate 2x6 SPF No.2 (1) 12-10-08 0-00
C Top Plate 2x6 SPF No.2 (1) 504-00 0-00
_ D Top Plate 2x6 SPF No.2 (1) 16-00-00 0-00
Square: 29-00-00 E Top Plate 2x6 SPF No.2 (1) 6-02-08  0-00
5.087 F VTP 2x6 SPF No.2 (1) 15-06-08 0-00
\ _ = _ : e _ G VTP 2x6 SPF No.2 (1) 12:00-00 0-00
it SV 7w X | ' i T = Y H  King Stud 2x6 SPF Stud (2) 81000  0-00
S T | Jack Stud 2x6 SPF No.2 (2) 6-04-00 0-00
o M| g J  Jack Stud 2x6 SPF No.2 2) 4-11-08  0-00
b K K  Header 2x8 SPF No.2 (3) 30500 0-00
et L Filler 1/2" 2x12 CDX FIR (2) 30500 0-00
M Header Cripple  2x6 SPF No.2 4) 11012 0-00
Tg N  Stud 2x6 SPF Stud (20) 810-00  0-00
9 O Flat Stud 2x4 SPF Stud (2) 810-00 0-00
o & P Sheathing 7/16" 4x9 OSB (7)  9-00-00  4-00-00
I | | Q Sheathing 7/16" 4x9 OSB (1) 3-08 8-00-00
R Sheathing 7/16" 4x9 OSB (1) 3-08 8-00-00
| S Sheathing 7/16" 4x9 OSB (1) 3-08 8-00-00
| T  Sheathing 7/16" 4x9 OSB (1) 3-08 4-00-00
U Block 2x6 SPF No.2 (1) 512 0-00
V  Block 2x6 SPF No.2 (17) 1-02-08  0-00
W Block 2x6 SPF No.2 (1) 10212  0-00
2-11-00 X Block 2x6 SPF No.2 (1) 1-00-12  0-00
Y Block 2x6 SPF No.2 (1) 8-04 0-00
A I B
6-08 | 4-02-08
ﬂﬂ 1 -OOWL 2-11-00 ﬂL 23-08-08 qL OPENINGS
p 27-06-08 ,  O/AFRAMING

2/8

Flush T

]

J Extend: 5-08

809 >

80-20 ¥
$0-€0-G



New
England
Homes

Job: 1811BKS2155R

DiPrizio

‘Since 1962.
Try all of our Fast
Fai

“or AUl Your Building Needs

o Villogy~ W&t«
BUILDING SUPPLY, INC. UILDING SUPPLY, INC.
—

12 Components
bricated Wall Pancls. Box: Trim, Roof & Floor Trusses )

LaValley Landscape Elevation Report
Page: 4 of 5

Date: 01/14/2019 10:59:53

Level: 1st Floor Bundle: <None> Panel: 4
Stud Spacing BE Weight Pr ion N
1-04-00 346 874.00 Ib
Sheathing Hold/Extend
Standard Material T B L R
7/16" 4x9 OSB - 208 508 508
Cutting List
Lbl Member Description Length Width
A Bottom Plate 2x6 SPF No.2 14-02-08  0-00
Square: 24-09-11 B Bottom Plate 2x6 SPF No.2 8-10-08  0-00
o C Top Plate 2x6 SPF No.2 8-10-08  0-00
5-08 D Top Plate 2x6 SPF No.2 14-02-08  0-00
- - = E — E VTP 2x6 SPF No.2 16-00-00 0-00
TC.’ S e U Y] W = X F VTP 2x6 SPF No.2 8-00-00  0-00
N o G King Stud 2x6 SPF Stud 8-10-00  0-00
& g I H Jack Stud 2x6 SPF No.2 6-02-12  0-00
o J | Jack Stud 2x6 SPF No.2 4-11-08  0-00
\ J  Header 2x10 SPF No.2 3-09-00  0-00
| K K Filler 1/2" 2x12 CDX FIR 3-09-00  0-00
L  Header Cripple 2x6 SPF No.2 1-10-00  0-00
Tg M  Stud 2x6 SPF Stud 8-10-00  0-00
<o'r N Critical Stud 2x6 SPF Stud 8-10-00  0-00
& O Sheathing 7/16" 4x9 OSB 9-00-00  4-00-00
i P Sheathing 7/16" 4x9 OSB 5-00 8-00-00
M G N Q Sheathing 716" 4x9 OSB 5-00 8-00-00
| R  Sheathing 7/16" 4x9 OSB 5-00 8-00-00
S Block 2x6 SPF No.2 8-04 0-00
H T Block 2x6 SPF No.2 1-02-08  0-00
U Block 2x6 SPF No.2 1-00-00  0-00
V  Block 2x6 SPF No.2 1-02-00 0-00
W Block 2x6 SPF No.2 9-00 0-00
3-03-00 X Block 2x6 SPF No.2 1.01-00  0-00
A 1 B
11-03-04 15-03-04 19-04-04
qb 11-07-12 /[L 3-03-00 /[L 8-02-04 q\/ OPENINGS
L 23-01-00

3/0

¥ O/A FRAMING

=

=

Extend: 5-08 LN

cl-6

Y0-€0-+1

¥0-€0-G} ;
==

Y0¥ 0-6}

iy NJ Extend: 5-08




I i || @) Job: 1811BKS2155R

oz Necds

LaValley Landscape Elevation Report
Page: 5 of 5

Date: 01/14/2019 10:59:53

Level: 1st Floor Bundle: <None> Panel: 5
Stud Spacing BE Weight Pr ion N
1-04-00 35 78.00 Ib
Sheathing Hold/Extend
Standard Material T B L R
7/16" 4x8 OSB - - -
Square: 7-05-11 Cutting List
~ Lbl Member Description Qty Length Width
o B = A Bottom Plate 2x4 SPF No.2 (1) 6-08-00 0-00
OI B  Top Plate 2x4 SPF No.2 (1) 6-08-00 0-00
© C VTP 2x4 SPF No.2 (1) 6-08-00 0-00
C? D Stud 2x4 SPF Stud (7) 3-01-08 0-00
™D E  Sheathing 7/16" 4x8 OSB (1) 3-06-00 6-08-00
A
JAY
7\
L 6-08-00 ., O/A FRAMING
1 1
Flush i i i i i il Flush

¥0-€0-1



